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PAPER 1 - FOUNDATION TIER

GCSE Mathematics - Linear

Final Mark Scheme

Paper 1 (Non calculator) Marks Comments
Foundation Tier November 2014 ¢
1. (a) (i) 52004 B1
(i) six million (and) seven hundred thousand Bl Accept six point seven million
(b) (i) 36 and 44 Bl
(i) 37 Bl Allow 37+46 etc as long as 37 seen
(iii) 56 BI
(iv) 81 Bl
(¢) (i) 79600 B1
(ii) 80000 Bl
(d) 1,2,3,4,6,12 B2 BI1 for at least 4 correct factors with at most 1 incorrect
number. Ignore repeated numbers
Accept answers written in the form 1x12, 2x6, 3x4
(e) 15/2.97 OR 15/3 M1 Using a repeated addition method (or multiplication) only
gets M1 if it shows trying to get the most for £15.
£14.85 gets M1 AO.
=5 Al Note:
We condone 3/15 =5 and award M1,A1. If their answer is
incorrect, such as 3/15 = 4 then award M0,A0.
12
2.(a) 7 hundred(s) OR 700 OR hundred(s) Bl Do not accept 100
(b) 23 OR 29 Bl
(c) (Disha spends) (£)5.60 OR 560 (p) Bl
(Number of pineapples =) 560/80 Ml
=7 (pineapples) Al
Look for

e spelling QWC | QWC2 Presents relevant material in a coherent and logical

e clarity of text explanations, 2 manner, using acceptable mathematical form, and with few

e the use of notation (watch for the use of ‘=", £, p) if any errors in spelling, punctuation and grammar.

QWC2: Candidates will be expected to QWCI Presents relevant material in a coherent and logical

o present work clearly, with words explaining manner but with some errors in use of mathematical form,
process or steps spelling, punctuation or grammar

AND OR : o . .

o make few if any mistakes in mathematical form evident weaknesses in organisation of material but using
spelling, punctuation and grammar and include acceptable mathematical form, with few if any errors in
units in their final answer spelling, punctuation and grammar.

QWCI: Candidates will be expected to . . L .

o present work clearly, with words explaining QWCO Evident weaknesses in organisation of material, and
Process or steps ’ errors in use of mathematical form, spelling, punctuation or

OR grammar

e make few if any mistakes in mathematical form,
spelling, punctuation and grammar and include
units in their final answer 7

3. (a) Delivery charge =250 — 5 x 40 MI Correctly substituted shown by correct attempt to evaluate.
Delivery charge = (£)50 Al
(b) Number of days = (350 — 30)/40 M1 For correct substitution with subtraction
= 8 (days) Al Allow embedded references to the correct answer.
4

© WIEC CBAC Ltd.




GCSE Mathematics - Linear
Paper 1 (Non calculator)

Marks

Final Mark Scheme

Foundation Tier November 2014 L
4. (a) Penalise —1 once only for contiguous or fragmented
BI symbols
E
AF E Bl For Africa AND America. Accept other configurations of
the 2 squares, fm‘_e_x_q_m__pl_em:]
1 Bl Accept other configurations of the 3 squares
A8 - for example
. §
AU ] Bl
(b) Both axes labelled, e.g. frequency along one axis and Bl Accept 'Number' OR 'Athletes’ for frequency.
Europe (E), Africa (AF), Asia (AS), Americas (AM),
Australasia (AU), along other axis - anywhere within
the base (inc.) of the corresponding bar.
Uniform scale for the frequency axis starting at 0. Bl If no scale then B0 and allow one 2 ¢m square to represent
10. Same applies to any other consistent recognisable scale.
For example one 1c¢m square to represent 10 consistently.
Five bars at correct heights (bars must be of equal B2 B1 for any 3 or 4 correct bars.
width).
(c) (The) America(s) OR (AM) Bl Accept 70 and (The) America(s) OR (AM), but BO for 70
only.
(d) 30/200 OR 3/20 QR 15% OR equivalent LS.W. B2 B1 for 200, B for a correct numerator on F.T. in a fraction
<1. Penalise -1 for incorrect notation, e.g. ‘30 out of 200°,
‘30:200°
11
5. (a) Missing side segments = 4 Sl May be implied by correct working.
Perimeter = 7+3-+74+4+3+7+3+4+743 MIl Attempt to add all sides of the shape. M0 if 7 OR 3 used
instead of 4
=48 (cm) Al C.AO.
(b) Area=3x7x3 Ml OR equivalent
=63 Al C.AO.
cm’ Ul Independent of all other marks.
6
6. (a) (-3.1) Bl
(b) 3 Bl | Accept(3...)
(©) (-1,2) B2 B1 for any point with coordinates that add up to 1 with one
negative.
B0 for (x —1, v 2) but Bl for x= -1, y=2
4
7. 25% of20=35 Bl May be indicated on the diagram
John and Denise share 15 cubes Bl F.T. '20 — their 5'
Maximum for Denise = 7 Bl F.T. 'their 15" if possible.
For example, suppose John and Denise share 14 cubes
then maximum for Denise is 6 (with John 8).
3
8. There are 5 (red biros) Bl
Red biros cost = 225(p) OR (£)2.25 Bl F.T ‘their 5” x 45 evaluated correctly (provided ‘their 5’# 3)
3 black biros costs 75(p) Bl F.T.'£3 - their 225' evaluated correctly
Each costs = 25 (p) Bl F.T. 'their 75° + 3. B0 for 0.25
4

© WIEC CBAC Lid.




GCSE Mathematics - Linear

Final Mark Scheme

Paper 1 (Non calculator) Marks Comments
Foundation Tier November 2014
9. (a) x +3y B2 B1 for the x OR (+) 3y
(b) 5t=15 BI
(t=) 3 Bl F.T from one error. Accept embedded answers,
(c) 4 B2 B1 for the -6 OR (+)10. —6p +10q gets BO.
6
10. Use Overlay
Correct use of the scale on any line OR First correct line Bl For any 1 correct line drawn OR All 3sides 8cm,10cm
and 12cm corectly calculated.
Method for finding intersection of the other 2 sides M1 Arcs must be shown.
Completed drawing Al
Allow B1, SC1 if their triangle is within the tolerances of
the overlay but no arcs shown.
3
11.(a) (0).13 +(0).14 + (0).04 M1 NOTES:
(0).31 OR equivalent, e.g. 31% Al (1) There is no F.T. for the
use of any probabilities
(b) (0).31 of 200 M1 F.T ‘their 0.31° outside the range 0 to 1
=62 Al 62 out of 200 gets M1, Al inclusive.
_62 gets M1, A0. (2) Penalise —1 once only for
200 consistent use of words such
as “31 out of 100", “31 in
(c) 200 x70p—-62x£1.50 (=140-93) M1 F.T. ‘their 62°, OR rounded | 100” OR “31:100".
up or down figure. (3) When fraction and wrong
OR notation seen, DO NOT
Profit = penalise wrong notation.
138x70(p)—62x%80(p) (4) If incorrect reduction of
= (£)96.60 - (£)49.60 fractions, then give the full
Profit =(£)47 OR 4700 (p) Al = (£)47 marks at that point, but if
they go on to use the
incorrect fraction in part (b),
penalise —1.
6
12. (a) ZABC =46 (%) Bl Look at diagram also
x = 180 —46(°) - 59(°) OR 180 —105(°) M1
x =75(°) Al
(b) Interior angle = 55 B1 55 on its own gets this BI, even as y = 55.
360—-117-141-55 OR 360-313 M1 Angle sum of quadrilateral. Note that 360 —117 - 141 —
(180 — 125) is equivalent to 180 + 125 — (117 + 141)
y = 47 (%) Al | For finding 4™ angle. Also look in their diagram.
F.T. ‘their 55°
6
13. (a) 11:47 Bl
(b) 14:19 —13:25 M1 For the intent to subtract 13:25 from 14:19
= 54 minutes Al
3
14, MI For a method that produces 2 prime factors from the set
{2,2,2,2, 3,5} before their second error. If their 2™ prime
and 2" error occur at the same ‘level” then allow M1,
2.2.2.2.3,5 Al C.A.O. for the six correct factors. (Ignore 1s).
2% 3x 5 Bl F.T. their answer if at least one index form used with at least
a square. lgnore prime number requirement for this B mark.
Use of brackets (2*)(3)(5 ) OR dot 2*.3.5 gets the B1,
The inclusion of any 1s as factors, for example, 2* x3x1x5
in their index form gets BO. Note that 2' x3'x5' gets B1.
3
© WIEC CBAC Lid




GCSE Mathematics - Linear

Paper 1 (Non calculator) Marks FlnalCMark S(tzheme
Foundation Tier November 2014 SHHARE T
15.(a) Reflection (in) y = 1 OR rotation 180° about (-4, 1) E2 Do not accept informal or imprecise language such as
OR rotation 180° about origin or (0, 0) followed by ‘flipped’ or ‘mirror® or ‘translation’ for E2
. -8 ; E1 for ‘rotation’ or (‘turn around”) 180° with (-4, 1)
SR ( 2} OR or enlargement -1 with centre (-4, 1) indicated, OR ‘reflection’ and an attempt to in(dicate a
OR equivalent . horizontal line (accept incorrect lines) or reflection in x=1,
OR for *“flipped in y=1" or ‘mirror in y=1" but do not allow
‘flipped’ or ‘mirror’ with y=1 drawn but not described, OR
(b) Correct rotation i (b) E1 for rotation ‘about (0, 0)’ or ‘180°° and translate (_28} )
| 1 1
e B2 | Bl for anticlockwise 90° about the origin (2nd diagram) OR
— e 90° clockwise about origin of triangle B (3rd diagram)
[1 I
0 B1 0
H1
(c) Correct enlargement B2 B1 for any 3 correct vertices OR completely correct with a
different scale factor (£1)
6
16.(a) Use of distance /time (35/2.5) Bl For example, accept 35/2.3(0) or 35/150
An answer of 15.2.... implies this first Bl
35/2.5 Bl
14(mph) Bl C.A.0O.
Alternative: 70+5 B2 then 14(mph) Bl, or
35/5 = 7 with 7+7 B2, then 14(mph) Bl
(35/7 is insufficient to convince distance/time)
(b) 10(kg) or 11(kg) Bl
(c) (In Glasgow time flight arrives San Francisco at) M1 All times and periods and attempt addition forward
13:40 add 4h 25 min add 13 h ( 7:05 on Thursday/next day) May be in stages. Accept 4.25 as indication of 4hr 25mins
(To find San Francisco time) subtract 8 h MI Intention 8 hours back from their intention of addition of 4h
25min or 13 hto 13:40
Day Wednesday Time 23(:)05 OR 11:05 pm Al CAO
OR 11:05 Wednesday night An answer of 23:05 without stating Wednesday is M1, M1,
OR equivalent AQ. Allow 23(:)05 pm, but do not allow 23(:)05 am
Accept 11(:)05 pm. Allow 11(:)05 Wednesday night
H4 7
17. (a) (5x =12 =) 3x+18 B1 For clearing the bracket correctly. FT until 2" error.
5x -3x = 18412 or 2x=30 Bl
x=15 Bl If FT leads to a whole number, answer must be given as
whole number, otherwise allow as an improper fraction
(b) 9x<720rx<72/9 OR 9x<77-5 M1 AO for a final answer ‘x=7’, however ignore continuation to
x<8 Al state x =7, 6, 5, ... with x<8 seen award Al
No marks for use of “=" throughout, unless finally replaced
to give x<8 then award M1 Al.
SC1 for x<82/9 ISW
H2c&d 5
18. Area triangle ADC % x12<AD = 60 or equivalent Ml
AD =10 (cm) Al
Area triangle XBC = x 2.5x AD Ml FT ‘their AD” and/or FT consistent use of ‘their area
formula’.
12.5 (cm?) Al
Alternative:
(Using ratio of base) Area XBC = 60 =x2.5/12 M1, A1, M1
= [2.5(cm2) Al
OR in parts: 60/12 M1 (NOT labelled AD)
=5 Al
Area 2.5 x 5 M1
= [2.5(cm2) Al
Hé 4
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